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19

264900%

26490( =

2649007

26490( =

264900%

26490( =

264900%

26490C =

264900%

26490C =

264900%

26490( =

264900%

26490( =

264900%

26490C =

264900%

26490C =

264900%

26490C =

0

1649007

3298014

4947021

6596028

8245035

9894042

11543049

13192056

14841063

16490070

18139077

19788084

21437091

23086098

24735105

26384112

28033119

29682126

31331133
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27

28

29
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31

32

33
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37

38

39
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42

264900%

26490C =

264900%

26490C =

264900%

26490( =

264900%

26490( =

264900%

26490C =

264900%

26490C =

264900%

26490C =

164900%

26490C =

264900%

26490( =

264900%

26490C =

264900%

26490C =

264900%

32980140

34629147

36278154

37927161

39576168

41225175

42874182

44523189

46172196

47821203

49470210

51119217

52768224

54417231
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57715245

59364252
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62662266

64311273

65960280

67609287

69258294
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44

45

46

47

48

49

50

26490C =

264900%

26490C =

264900%

26490C =

264900%

26490C =

164900%

70907301

72556308

74205315

75854322

77503329

79152336

80801343

82450350
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